Unit 1: Math Il Review
Guided Notes

Name

Period

@ **If found, please return to Mrs. Brandley’s room, M-8.**
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Concept 1: Order of Operations

1. Two people solve the following problem in the two different ways shown. Which do you think is
@ correct, and why?

PersonA Person B
8-2+1 \1 8-2+1
6+1 / 8-3
7 / 5
A SLNTIA 0
Using PEMDAS  you do  addivor and Subtraction

from e+ T (gnt _
2. The same two people solve the following problem in the two different ways shown. Which do
you think is correct, and why?

Lo ~
Person A / PersonB )

6-3+3 6-3+3 ‘
3+3 6-1
1 5
g, BT O done \pekore  Syetvaction

viing ‘the Of der of L,\’J’{;'( ations
Q 3. What is the order of operations?
P Threntheses  and otner c&r

——
| _—~

B CXpoNents

MD: oL CatioN jik @““J\ SN 'I(" o \C-H W ( "jb 4

Muttpl
. - ) e o ) \ 'V COL )
As: Nddition B Suptvaction fom \eAr o CranT
4. What is your favorite number?

5. On the index card given to you, write an expression that is equal to your favorite number and
includes at least 4 of the following:

Parentheses (or other grouping symbol)
Exponents

Multiplication

Division

Addition

Subtraction

DO B WO

L 6. EXAMPLE: 72
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7. Trade index cards with the person next to you. Try to solve their problem. When you are both
finished, compare your answer to their favorite number. Are they the same? If not, solve the
problem together and see if you can come to agreement on what the answer should be. If a

@ mistake was made on either side, that's great! That is the best way to make your brain grow!

8. Solve your problem here:

9. Solve your partner's problem here:

Solve the following:

10. x + y + z when x=1, y=2, and z=3. 11. 2x(5 — y) + z — x when x=1, y=2, and z=3.
Ry 2\ (6-2)+3—|
\T_Jrﬁ '{J :1 %7‘_’1_',\
xb : :) . \ - CJ\ 25 /ﬁ
12.x-$=3 13.3x -9 =3 4.2=4 o 15.2£5 X
® H ° tH 4 o : ‘ 1
g, v — ) ‘) ) = ‘
Bt Ry =1L =720 26 %
X = 9) & = - S
Concept 2 WARM-UP = ‘—‘\ S
= >
Solve the following equations for x. Simplify the radicals Y\
1]x? =4 2. x =36 3.x2=-16 4. x2 = —49

5.20 Fiice 6. V60 {{’:—f’t 7.4=80 = \1@0
1) S \ [\ JiN
@20 7ol e ,Fe 0
— b i it 3 ,
& Z :, T = i L{\ ‘ﬂb & 242
cle 7 2 k% IXG
e ’2,2'
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Concept 2: The Square Root Method

Remember that all quadratics have two solutions. Either one repeated, 2 real, or 2 imaginary.,

Q Solve the following equations for x.

No x-term:

8. x*-81=0 0.x2+64=0

tedd ) X =-pH

\/\:‘fb\ X = :\,’(gl\
11.2x2-128 =0 12.3x2+81=0
2¥ = \Z ¢ 5% L—’-((} '\
X =bH X = -2
X=7 ) X l: |“,irf
Vertex Form: k=X QLE

14.(x—1)2—9=0

i S 218 oA Sl
i B - § Al i
X | \{ JL—”\ }’\;\(2\ :{-—("\
= -7
XY=\ = * , o i L
N -2 il |
T A \X=2 T3

X = X )_'2'_ | K
Concept 3: Factoring Preparation

What is a greatest common factor?

List the greatest common factor in the following expressions:

1.2x*+6x—8 2.6x2-3x+9 3.3x% - 2x

7) 5 -
(‘é(.
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10.x2-60=0
Xz: (p0
X= TG
13. 4x% — 64 = 0
Y4y 4= Y
X = b
X = = =

16. 4(x +3)2 - 16 = 0

4x%-5x+3



Factor out the greatest common factor in the following expressions:

1. 2x% + 10x 2.12x* - 3x +6 3.5x2 = 15x + 10 432 —2x +7
® _ ; kgt '
(s G ae s IR TR o AT i b(_-xz‘ LA N A

Given the following quadratics, list what AxC is and what B is, then find two numbers that multiply to

AC and add to B.

5.3x2-7x+4=0 6.x2+8x+16=0 7.2x24+8x+6=0
AxC: \"L AxC: |lp AxC: | L

Bu—=] B: E‘ B: §

28 2, b - 2#s: Y ’{‘ ‘-T 2#s: [, {’ 2

Solve the following for x:

B.(x—2(x+7)=0 9. 2x-1)3x+4)=0 10. 2(x - 3)(7x - 5)=0 1. x(x+8)=0

L)

=) = - A Ny 1 —~
=2, 1 LB T "F2) 5 X’O;'Q
Concept 4: WARM-UP
Factor the following:
1.3x2 -6 2. x% + 4x 3. 4x% - 2x 4.5x? + 4x 5.6x2 + 12x

R \ o y ¥ |
327) X 20(2x-1) X(GxER)  ex(xr2)
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Concept 4: Factoring

Every “factorable” problem can be factored using the following steps.

e

2

3.

. Write the quadratic in standard form. Ax? + Bx + C

. Factor out the greatest common factor (GCF). (There will not always be one).

Find two numbers that multiply to AC and add to B.

- Rewrite the quadratic splitting up the x-term into two terms using the two numbers found in step 3.
- Group two sides of the quadratic in a way that makes the parentheses match.

- Factor out the term in parentheses and rewrite in factored form.

. If solving, set each factor equal to 0 and solve for the variable!

- Smile in relief that your problem is complete. ©

Example: =4 + 4x? = 6x

e,

2,
3.
4.
5.
6.

7.

4x* —6x—4=0

2(2x% - 3x - 2)

AC=-4 B=-3. -4 and 1 multiply to -4 and add to -3.
2(2x? —4x + 1x = 2)

2(2x(x—-2) +1(x—2))

22x+1)(x - 2)

fF2x+1=0,x=-1/2.fx-2=0,x= 2.

8.©

When a=1, the two numbers found that multiply to AC and add to B, are the two numbers in
parentheses in factored form. For examples, in x* + 8x + 16, 4 and 4 multiply to 16 and add to 8 and

./.the quadratic factors to (x+4)(x+4).
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Let's try it a step at a time!
Example 1: —10 4+ x? = -3x

@1 Write the quadratic in standard form. Ax? + Bx + C
¥ o el 0

2. Factor out the greatest common factor (GCF). (There will not always be one).

N [A

3. Find two numbers that multiply to AC and add to B.

(

AC -0 2 : 2 -2 %0

) e \

4. Rewrite the quadratic splitting up the x-term into two terms using the two numbers found in step 3.

-} .| L V) == \‘

. \

5. Group two sides of the quadratic in a way that makes the parentheses match.

\ " 3 A i '.” f \
p B S B AT L

6. Factor out the term in parentheses and rewrite in factored form.

O . N \
(X-LY( KX+ )

7. Set each factor equal to 0 and solve for the variable! ©

e %ol
Example 2: 8x + x? = =16
1. Write the quadratic in standard form. Ax* + Bx + C
X +@x rllo
2. Factor out the greatest common factor (GCF). (There will not always be one).

N /A
3. Find two numbers that multiply to AC and add to B.

Py el
fﬂw \EWJ 5 U L 3 !

4. Rewrite the quadratic splitting up the x-term into two terms using the two numbers found in step 3.

5. Group two sides of the quadratic in a way that makes the parentheses match.

XX+ ()

6. Factor out the term in parentheses and rewrite in factored form.

¢ [ (X4

7. Set each factor equal to 0 and solve for the variable! ©

Y
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Example 3: 3x? - 15x — 18 = 0
1. Write the quadratic in standard form. Ax* + Bx+ C
e oh i) s
2. Factor out the greatest common factor (GCF). (There will not always be one).
3 (4*-x - )
3. Find two numbers that multiply to AC and add to B.
M- B8 -9 0 %

4. Rewrite the quadratic splitting up the x-term into two terms using the two numbers found in step 3.

", (X —lor ™ X - 1 \

5. Group two sides of the quadratic in a way that makes the parentheses match.
~ . : N
ﬁ(\(xﬂgﬁk\(x’bq)

6. Factor out the term in parentheses and rewrite in factored form.

- ~
2 (Xl Y (X))

7. Set each factor equal to 0 and solve for the variable! ©

¢ X=, -
As a class: 2x2 —4x = =2 With a partner: =9 — 6x = x? Shoulder Tap' x2=-x-2=0
= 2 { = ‘l (_,
VA W b L W rlox ¥ \ _af-}x'\ o 2
- l B i e $-=73 _.fC,{ = A h
P (_ Yo |} Sl i B L R * TSR .\‘ W= =y \ Y\ &)
2 (%% - Ix =X T\) (YA3) £3(XT3) fo T \
_,(\ X A6 &1 ( 'x’af\(\f\f\)
Z(X(X-1)1(X-1)) (R DM ) A
L(X-\) (X" ) M Xi &) -’\
X =\ L.
Concept 5: WARM-UP
Put the following quadratics in standard form ( Ax* + Bx + C = 0) and list A, B, and C.
1, x%=5%~—3 2.2x? =5—4x 3.2x = —6x2—1
2 iE & . | y
gFE% - oX Y5 sF: 2" 4y -5 SF: (R Z+2x +\
ALY A: ) A o
B -0 g B:
.C ‘:) €= \’j Gl
9
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Concept 5: The Quadratic Formula

° —b +Vb? — 4ac
X =
2a

As a class:
Ldxr®+12¢=7 Yy~ *\2y -7y A 2. 4x2 +3 = —6x A A
W T T R T %) Vi | y . b b
Y “_1-_"\ \ _h__\_,‘i.L_ ‘_l | ( ] 1 I { i1 21 5 e l) _/)

.Nith a partner: o .l‘\ u? )

3.2x2-5x=75 2+~=9«-16 N2 4.3x2+6=-72 5 2 _ A

e ey ; At e 2\ ) :
= <=1h I_Ll’_\;'_:_' 5520 ¢ - 03 _f_U_#LwI_I_J C 14
)i \] e fJ ;’l
s - - R il {—-*
e - W4 X \ j \ Lh | %) -\ | »
= e — I \__ L |'. | t
- | o ’ —— /‘ { i)
('—" [ ) \
\ J
Shoulder Tap: A Y ‘
5.4x2+9x=13 UX+Yy -15 @ § 6.x2=-8x+19 Y +By -9 fﬁ
(. = b % < 2

CIRE N [ - BT e
xt 1G5 Y (4) -1 X= o Sl_’l‘-’ﬂi‘.(flfﬁ

= T8I 4 L _Q 4140
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